100

50

-50

-100

100

50

-50

100

100

50

. : . . . : . . . . .
- Fault Starts: 11972734~ [——— E
—Fault Ends: 2.8034699 —
OHtocatStresses .~  —  ~ — — = = ]
[ Shot: 3091, Param. Tree 72 ]
[ IDL: Max= 135.340, Min= -6.84371e-06 —
- OHCoilStress, Upper_Tresca (normal, circular) .
35.34003, Min= -6.8437052e-06 ]
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- Fault Starts: 11972734~ [————~\ E
—Fault Ends: 2.8034699 —
OHtocatStresses .~ —  ~ ~ — = = ]
[ Shot: 3091, Param. Tree 72 ]
L IDL: Max= 135.336, Min= —
- OHCoilStress, Upper_Tresca (post. dis., circ.) .
35.34479, Min= -7.0291294e-06 ]
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- Fault Starts: 11972734 . [———— E
—Fault Ends: 2.8034699 —
OHtocatrsStresses .~ —  ~ — — = = ]
[ Shot: 3091, Param. Tree 72 ]
L IDL: Max= 135.339, Min= —
~Tresca (post. dis., shaped.) .
35.34702, Min= -6.4236993e-06 ]
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OH Local Stresses

Shot: 3091, Param. Tree 72

IDL: Max= 101.631, Min= -5.15305e-06
OHCoilStress, Upper_Hoop (normal, circular)
DCPS: Max=101.63071, Min=-5.1530492e-06

OH Local Stresses

Shot: 3091, Param. Tree 72

IDL: Max= 101.627, Min= -4.78330e-06
OHCoilStress, Upper_Hoop (post. dis., circ.)
DCPS: Max=101.63392, Min= -4.9762068e-06

OH Local Stresses

Shot: 3091, Param. Tree 72

= IDL: Max=101.630, Min=-5.02059e-06
_OHCoiIStress, Upper_Hoop (post. dis., shaped.)
DCPS: Max=101.63563, Min= -4.5243073e-06
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- Fault Starts: 11972734~ [——— E
—Fault Ends: 2.8034699 —
OHtocatsStresses .~ —  ~ — — = = ]
[ Shot: 3091, Param. Tree 72 ]
[ IDL: Max= 135.320, Min= -2.88234e-06 —
- OHCoilStress, Lower_Tresca (normal, circular) .
35.32018, Min= -2.8823382e-06 ]
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- Fault Starts: 11972734~ [——— E
—Fault Ends: 2.8034699 —
—OHtocatStresses .~ —  ~ — — = = ]
[ Shot: 3091, Param. Tree 72 ]
L IDL: Max= 135.317, Min= —
- OHCoilStress, Lower_Tresca (post. dis., circ.) .
35.32386, Min= -3.1455027e-06 ]
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- Fault Starts: 11972734~ [——— E
—Fault Ends: 2.8034699 —
OHtocatsStresses .~ —  ~ — — — = ]
[ Shot: 3091, Param. Tree 72 ]
L IDL: Max= 135.320, Min= —
“Tresca (post. dis., shaped.) .
35.32557, Min= -3.0679582e-06 ]
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OH Local Stresses

Shot: 3091, Param. Tree 72

IDL: Max= 101.617, Min=-2.31788e-06
OHCoilStress, Lower_Hoop (normal, circular)
DCPS: Max= 101.61718, Min=-2.3178783e-06

OH Local Stresses

Shot: 3091, Param. Tree 72

IDL: Max= 101.615, Min=-2.37562e-06
OHCoilStress, Lower_Hoop (post. dis., circ.)
DCPS: Max=101.61965, Min= -2.5328328e-06

OH Local Stresses

Shot: 3091, Param. Tree 72

— IDL: Max=101.616, Min=-2.33397e-06
_OHCoiIStress, Lower_Hoop (post. dis., shaped.)
DCPS: Max=101.62096, Min= -2.4730755e-06
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- Fault Starts: 1.1814706 [/~ ]
[ Fault Ends: 2.8192700 =
: OHtocatStresses—mMmMmM M — — ——m— — — — — — :
[ Shot: 3091, Param. Tree 72 ]
__IDL: Max= 139.021, Min= -
esca (normal, circular) .
39.02056, Min= -4.6658302e-06 ]
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" Fault Starts: 1.1814706. [\ ]
" Fault Ends: 2.8192700 =
: OHtocatStresses—mMmMmM M — — ————m—— — — — — — :
[ Shot: 3091, Param. Tree 72 ]
__IDL: Max= 139.001, Min= -
— OHCoilStress, Mid_Tresca (post. dis., circ.) .
39.00988, Min=-2.1970131e-07 ]
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- Fault Starts: 1.1814706. [\ ]
[ Fault Ends: 2.8192700 =
: OHtocatStresses—mMmMmM M — — ————m—— — — — — — :
[ Shot: 3091, Param. Tree 72 ]
__IDL: Max= 139.000, Min= -
esca (post. dis., shaped.) .
39.00758, Min= -1.9883254e-07 ]
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OH Local Stresses

Shot: 3091, Param. Tree 72

IDL: Max= 104.608, Min=-5.37490e-06
OHCoilStress, Mid_Hoop (normal, circular)
DCPS: Max= 104.60792, Min= -5.3749043e-06

OH Local Stresses

Shot: 3091, Param. Tree 72

IDL: Max= 104.587, Min=-6.17312e-07
OHCoilStress, Mid_Hoop (post. dis., circ.)
DCPS: Max=104.59381, Min=-1.0320912e-07

OH Local Stresses

Shot: 3091, Param. Tree 72

= IDL: Max=104.586, Min= -5.33202e-07
_OHCoiIStress, Mid_Hoop (post. dis., shaped.)
DCPS: Max=104.59238, Min=-1.1715521e-07
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